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KTDA V1.0 JEZ corrrerssssseeresssssssssssssssssssssssssssssssss s sssssssssssssssssss s sssssssss s 9
KTDA V1.0 28] B E T crerrriieesssinsessssssssssss s ssssssss s ssssssssssssssssssssssssssons 5
QE T GO T I OB croerrrrvrrrsssssmmmssessssssmmssessssssmssssessssssmsssees s 6
FU W AT THQ HO]E] e 8
B T T L IO 3
Spike A AT TFQ HO]E] rrorrrrrrerssmmseersssmseessssisssesssssssessssissees e 11
SPIKE AN 7] A] |G wovvessssssssssssssssssssssss s 11
EP ZM IE correesssseessssssossssssssssssssssssssss s ssss s 13
ED BB T5 cervvussimsesssssssissssssssssss s ssssss s 13
AZ T7F B3 62 ATp THO] B O] E] e 15
B2 ZE FPIL O] Z A]A] ettt e e 15
DART 2182 Y% (Beltrami, 2008, Figure 1) smmmmmmmmmmmmsmsssssseees 17
DART QFILE]Z G2l Z] T} ceeversreessssssseessssssssssssssssssssssss s ssssssssssssssss s 19
AAE dag]E Ve % (Bressan and Tinti, 2011, Figure 1) s 21
S s o4
Detide QFILE]Z Z28] ZLT comrrersssmmmerrssssmsesesssssssesesssssssess s 97

KTDA V1.0 ZFES ©8F THQ] wrrrrrsssmmssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss 3
AEZ 39 (input.dat)S TABHE B TIF e, 4
SEHD HZ] BIZE et 7
SPIKE 7] HIGE weveerssssseeessssssssssssss s ssssss s 10
HAZ T7F TFIL ]2 IG5 e 14
DART SFTLE]ZE BIZE coereessseressssessssssssssssss s ssss st 17
TAAF QFTLE] 2 B G e 29
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2. KTDA v1.0

2740l KTDA v1.09] dgjot A8 S 235 fdaturd A8E ddow 7]
=3k T KTDA v1.09 ¥48-E 7|SdA=Z el

2.1 KTDA v1.0 +&

—/ +3 dlolg /

DART e
gaalg |
x| Esi Y
«—
/ HE PR
A <
gnzlg |

Figure 2.1.1. KTDA v1.0 +%



2.2 KTDA v1.0 2% H4

0w Fu

KTDA v1.0& #&53t7] 98] Table 2.2.19 3d& 3 &

o,
S
3
M
=
(ot
v

Table 2.2.1. KTDA v1.0 #&%5< 93t =<

vt

%

yyyymmddhhmm.kan

L2 a7 "ol (o) 201103111230.kan

input.dat

KTDA v1.0 AEE 1<

KTDA.m

KTDA v1.0 MATLAB #|¢l 2=

saveascii.m

8 A3E ascii JEZ A 3= MATLAB 84
o R,
http://www.mathworks.com/matlabcentral/fileexchange/10243-saveascii—

m-v6-2--oct—2009-

EXCEL®9] viookup &t 543 7152 3= MATLAB &<
ez

vlookup.m
http://www.mathworks.com/matlabcentral/fileexchange/29233-vlookup-s
imilar-to—-ms-excel-function
FeaA, e 5 A 24 71w MATLAB &<
. R A=
gfit2.m =

http://www.mathworks.com/matlabcentral/fileexchange/22020-goodness

-of-fit——modified—

T_TIDE package

Z3lEaE F3 24 AES dS5ceE MATLAB 3 % o
olE ANE

T t_equilib.dat, tide3.dat, t_astron.m, t_equilib.m,
t_errors.m, t_getconsts.m, t_predic.m, t_readme.m,
t_synth.m, t_tide.m, t_vuf.m, t_xtide.m, g.mat,
t_18constituents.mat, t_constituents.mat, t_example.mat,

t_xtide.mat

2= http://www.eos.ubc.ca/~rich/#T_Tide




(3#31) KTDA v1.0= z#&sh7] 93 B4 3de& &85 sidaaA deld
(kan), Z1EE 3¢ (input.dat) 28]3L ¥l FZ= (KTDA.m)o]t}. o] Hio
HFUdEL2 7AEE 9 (input.dat)®] SWITCH 1& W W57} o9} o
AA =] = AFolw AbEHTh

- saveascii.m : SWITCH & W W7F Ulgte 22 AAT] e A5

- vlookup.m : switchl®] 1 =¥ 28 AAL o] d&= 495
- gfit2.m : switch3°] 1 B 22 AAL S 9= 45

- T_TIDE package : switchtide7} 1 B+ 22 AAEHY Q&= HA$
O input.dat A%

KTDA v1.0 ZAEZ 39 (input.dat) W WTEL A3t} AES JAdS A3
= W4 2L Table 2.2.29F Zon I8 U W49 oule} A HIHL 2 340
A 2.84 7]<4389 )

Table 2.2.2. AEZ 94 (input.dat)S TASIE W4y &

=W3E | 1578 U]-&-

04~09 | SWITCH duElF 7Y 2 A o
13~14 | BASIC INFORMATION | AAY 7]3 Ax

18~19 | FORMAT CHANGE A

23~24 | DESPIKE Spike |71

28~32 | GAP FILLING A= 7ZF ga o5
36~39 | DART ALGORITHM DART &ag]&

43~51 | SLOPE ALGORITHM AAF G E

55~57 | DETIDE ALGORITHM | Detide &i12%&

61~66 | SAVE DATA A dleoly 9 o]&




O KTDA v1.0 A3

g A AFEolA MATLABS A#3cth 9d 1 gAe ZHE
MATLAB & %09 (Current Folder)®Z A|A3tt}. MATLAB %# % (Command
Window)oll KTDAZ ¥4#3 ¥ A E F=w KTDA v1.00] A3}

(1) o =H|

|_|input.dat |#]201103010130.kan @]t tidem

| t_equilib.dat |#) 201103010140 kan @]t vuf.m
|_|tide3.dat @ gfit2m (@ t_xtidem

|#) 201103010000 kan | @ KTDA.m |@) total.m
|#]201103010010.kan | @| saveascii.m @ viookup.m
[#)201103010020.kan  [@)t_astron.m [)g.mat
|@®]201103010030.kan  |@|t_equilib.m || t_18constituents.mat
|#]201103010040.kan  |@|t_errors.m || t_constituents.mat
|#]201103010050.kan  |@|t_getconsts.m || t_example.mat
|#]201103010100.kan  |@|t_predic.m |_]txtide.mat
|#]201103010110.kan  |@|t_readme.m

|®]201103010120.kan  |@|t_synth.m

(2) input.dat &7

£ S91TCH (0; Mo, 1

jes, 2; Yes and save data) H

suitchl : Formit chinge
switche Bk
witchd Fill
suitchdart DIAT 3150 ithe
switchslope Stone ala.rithn
switchtice =1 Detice altoritha
b BASICINFORNATION x
dt =10 Tiwe inte val of data (sec)
= =10 Sian ficat decinals
[ FORMAT CHaNGE %
starttine = 2011,3,9.0,0,0 Star! tim (year,month.day, hour, minute. second)
endtine = 2011,3,11.23,00.0 S End tine vearnonth, day, hour minute, sécond)
¢ Desei ke %
inputnanesp = result10sec.dat Use t if you already have timeseries data
thspike = 1/7.608 i Pred tern ned threshold to dstect spikes
£ GiP FILLING %
inputnaegap yau already have tinsseries dsta
fuaberintar Neabor of data-for ihtorpelat
‘sapnusber Naxinun sap stz for intorpolation
windossize Total window size (+sap size)
fpastdata Total data for search (+gap size)
J DaRT ALcoRITHY H
Inputnasedar! Sl e i1 vou alrasdy have tineseries data
" & ing tie (ain)
% Pr e (nin)
threshold ThFshold to Blara Haunan| (en)

% SLOPE ALGORITHY H

i1 oy alraady have tinessrios data

ingutnanes o
tis terval for the average siope (+10 sec)

i ap tine for |85 (+ %ed)
tGTide ap tine for detiding (+I0 sec)
tTide ferval for detiding:(+10 sec)

terval for reducing lons pariod yave effect (10 sec)
terval for the backsraind slope (+10 &

hreshold (ca/sec
£ Uhosho 1 Cho i sens on)

tBS
[Sthreshold
CFthreshold

b 01108 ALGORI THY x

ineutnanet de =
in

Us { you already have timeseries data
Input dats’ Tnvorval (hr]

o = 3merm Sition' Iatitede (deares)
Jx save oata H
output esul t10sec. dat : Fornat changed data nase
output2 Despiked data nane
ut3 Gap filled data nane
outputdart DIRT alara data nas
outputsiope Slope alara data nane
outputtide i Detided data nane

3) %E—I Il?g Current Folder w[Qgax
I <« bin » PR

(4) KTDA v1.0 A&l
Command Window »0 2 x
S>> KIDA

]
il
k

Figure 2.2.1. KTDA v1.0 23



(1) 3 mEA: ZAE AF02 ste] kandtdo]l §le Aot <& =
201103111230.kan 3% th&oll 201103111240.kan 3 §lo]
201103111250.kan =2 ©] o]F A|gke] w2 dojit)

(2) "olg A% 102 59 dolgrt 10x 1H4 EAeez 3 9 ot
dolEl7} 607] EAEoF sh=dl ASel o3 dlolE7F 607] 5
o} A& %ot}

(3) vlolE] Frh @ shel <kel 607 o) 4ol wHlolEl7k Agu o] gt A golnt.

o
i
N

"Date™,™2011/03/11™, "Datum Level (From Sensor to DL)™,"1030 cm"
2 "Time™,"Level™, "Difference™, "Tempreture™
1 8 T A Rl U k] el I
g Gt P T W St e i el I

g e L VP R . ekt el i

Figure 2.3.1. €5% <A Holg



5% LA Ao EoJatedS 1Elsle] KTDA v1.00] A3sl=s dolH

ZRg WASE dee e 2o

(D Az sa= 7458 29 HeleE A4 19& AATE AZ AR
(starttime) ¥ & A M endtime)7tA | 124 (dnel Aiteltt. 2642 A
5 T s oushE NaNoz gy sharolr).

(2) 5% sdaaA deolge A, ¥, o, Azt &, = ZAERE HErh (DA
st Azt s Alzte] d9sle &% slddaAle] wta HolHE (1)

o] #al (NaN)E thA| gk},

o

O W A
Y A4S FAG] A5t AEE Y (inputdat) W olee] MFES A4

oF 3t

d

=H3 | W &
, T A A o] F (0 mMPa, 1 fal, 20 Rl A
04 switchl
(o) 2
dlole 4 (%)
13 dt
(<) 10
A3t dolgel & 254 -
14 sd
(<) 10
dlolg AlzF Al (A, €, o, A, &+, %)
18 starttime
(o) 2011,3,1,0,0,0
Holg T8 A1H (A, €, 4, A, &, %)
19 endtime
(o)) 2011,3,31,23,0,0
switchls 22 A7 A A& A& udvg
61 output
(o) resultlOsec.dat




O 3 43}
- switchl& 0.2 AA3s 79

MATLAB %= ol ‘Without Format Change'& =9 3kt},

- switchlS 12 A3 A$-
1€ MATLAB AJzF, 2€e 3ta1 (A5 F3tol&= NaNeo| d#€#E)7 ¢4
totaldataS *§733ct. MATLAB W& Fo A}83 2% siduaA dolg

7} ‘Data Format Change Complete’E& < 3k},

- switchl& 2% 273 45
ouput °1 522 H Ul totaldatas A7¢3sth. MATLAB W& Fol A&t

Sx ddyaA deoleW i} ‘Data Format Change Complete’S &3 3k},

- switchl& 0, 1, 2 0]99] zto =z A3 A
MATLAB %& #Fol ‘Check “switchl”’' & =93k},

734573.7143518518 23.0000000000
734573.7144675925 22.0000000000
734573.7145833334 22.0000000000

734573.7146990740 HNaN
T34573.71458148149 0000000000
734573.7145305556 0000000000

Figure 2.3.2. X9 W7 A3 3 do]y

[ S ]

= ka

40
——Format Changed Data
=1 304
]
2 w *
[ LB w‘ln ‘
a0 |
2011-03-09 C:00 20110309 11:06 0510309 1212 20110310919 20110310 02y 010311731 0110311 18:38
time

Figure 2.3.3. ¥4 ¥H73 AA<L



2.4 Spike A|A

TEAE 229 duzdA 55 Al 20 A - AXE
Pu= vk 34, F4, v 5 9k SA4o] MYd AT B

_'QI_
&F 5, 2002). &FoA H=3=
=

5o IS T Aol ofd AHAFfor ARIL=ER FFE £ Qlonm
O 947

KTDA v1.00] A 83} spike A7 Wil Tukey 53H ¥ (Goring and Nikora,
2002)¢] Hgl= v Ao

(1) Iz 570 (h,_y~he ) T3 (W)E 3

(2) Fdak 370 WY ~nl Do TG P& TR
(3) BHFR F3 (WHE ofzl Hom TR

1
hY =0, +2h? +12)

(4) #A=32 DY " Thare] xfolof o gt
}3H spike® WHste] A A ST}

el AL (thspike) s =

(331) Tukey 53H ®WHel 7|& A 7]+

3 gholiu} AAZF = A5 H& 7leste

Az AL (thspike)E
A2 (Do} o] 435Sl

A
o,



Spike AAE F335}7] ¢ste] AEE Y (input.dat) W ofe HEES AF

Table 2.4.1 Spike AA ¥

=S | HAF IS
: Spike AIA =3 o (0: WFe, 11 8, 20 A+ A

05 switch2
(el) 2
A3 ey 8 273 F

14 sd
(e) 10
switchl= 002 A7 A &2l oF 9d

23 nputnamesp
(o) resultlOsec.dat

Tukey 53H HHo| A2 = spike FHE AL (cm)
(dh) 1
switch2s 2% A4 A A5 A%

(ed]) despike.dat

24 thspike

ot
%

a8

62 output?

_‘IO_



O 3 43}
- switch2Z 0.2 AA3s 79

MATLAB H# #o ‘Without Despiking’S =% 3t}

- switch2Z 12 AA3 A$
1€ MATLAB A7t 20 93l (spike® #IwE F-HEo= NaNo| ==) 7}

ANHE rotaldatalsS 2833t MATLAB W# Ao ‘Despiking Complete’E =

~ switch2Z 22 A3 AL
ouput? ©|Eoz B FJAo| rotaldataS AFsE. MATLAB W& Fo

‘Despiking Complete’& =2 3lt},

- switch2Z 0, 1, 2 ©0]99] zto =z A3 A
MATLAB H# o] ‘Check “switch2”’ & =9 3lt},

734563.0032407407 23.0000000000
734563.0033564814 24.0000000000
T34583.0034722223 £3.0000000000
734563.0035879629 Hal
734563.0037037038 Hal
734563.0038194445 23.0000000000

Figure 2.4.1. Spike A7 A3 1Y do]E

40

| —Despiked Data
2 .
=) |
5 :o.w; i N
2 |
2 My !
i

=3 n.'.u-ﬂw

a0 |
201105409 0:00 201103409 130 201103409 22:12 20130510818 20110310 20:21 20114541 T:31 201143-11 1838

Figure 2.4.2. Spike A7 A AL

_‘I‘I_



O Ne.

s

A

=
=

I dlolH

Y EFE

o)
=

18] 31 detide

DART

Al

| =

17h shol

g

A

[e)
Chy

o)

ST RS

o}
=

3t detide

°] 7t

g

2]
(1) s

2]

O

To-

ﬂ

T3t 5 dely (270

=
=

dlolY (numberinter’V)¢t 2

EP (End-Point

D

o
A}

2t (gapnumber) ©]

fixing method)= A%

a1) Epe] ¥g

&

(

To-

o

ol

=3
i)

EP 7idk=oln 2pA vhar

S
) N

1t} Figure 2.5.1

O
PN

5

&

AL o Sl A

a}

s

o

.
"o

bl ofelel A& of

17] 915

S

(t—c)+a forc<t<c+d

—a
d

b
[{ori (t) +

Hp(t)

_‘|2_



AN H,HE BH A2 F d3, g0 BF 94 A S oE b —hy, b
= hy—hy, = t, dE t,—t, |t Figure 2.5.2% EP & xo|t}. WA AZe
7] (gap size)ol windowsizeE F3F 7|9 target window®t &Y 7|9
search windows AAgd. T8l 45 33 A9 AS 747t target
data®} search dataz} A3gtt}. Search datat™ npastdata®t 259 A7
(gap size)E& w3+ A7IWkEe] A dlo]E71A] o]§3l™ target data®te] H+t

A2} (mae)E ALY 1 5 B Ao x7F HA7F ¥+ search datas

Figure 2.5.1. EP /1Y%=

L npastdata*gap size " windowsize*gap size R
I€ 1€ |
c E M
.g gap size
§ | mae(1)
@ i : i
& ; search window . target window 4 :
3 mae (m+1)
® ” ) ]
a N S :
moving direction ¢ mae (Mieqrep)
" search data ' ™ target data '
Selected Set [[IIIITITIIIIII [T | MIN(ma) ]
-9
= (R T T
swdata [ITTTTIIIITH T
%9 [ ‘ SWEP data [ITTTTTTTTITH
= % i
e [ T T T T T T T T T TTITTTITT
]
&)

Figure 2.5.2. EP %

_13_



| 98t REE 3 (input.dat) W ofzfo] W

)

O ¥y AA
A% 33 hn d5e SYs
55 AAdEoF sir.
Table 2.5.1 25 3t 331 o5 W5
=H3T | W &
| AZTbtaelE 5 ol (O g, 1 e, 2 e A
06 switch3
(d) 2
A3t delge] fm 259
14 sd
(¢) 10
_ switchl, switch2s 022 A7 A 28L& 94 34
28 nputnamegap )
(o) despike.dat
Ad B AMEE = A5 F3F < dol"g 4 )
29 numberinter
(o) 5
EPZ 4% 73 318 o33 Ak 45 74 5 O
30 gapnumber
(o) 30
’ ‘ EPE F3 & A7 244 A
31 windowsize
(o) 2
EPE T oA deoly 4+ 24 A
32 npastdata
(<) 10
switch3% 22 A Al A35 A4Ed 39U
63 output3 )
(of]) gapfill.dat

_14_



O % A3t

- switch3& 0.2 AA3s 79

MATLAB %= o ‘Without Gap Filling’

- switch3< 12 A3

14el] MATLAB AJzE, 290 A5 7 9aL

S A7dstt. MATLAB W&

- switch3& 2% AA3 75

ouput3 ©|E0. 2 H 1}

=

= o =39 vavy JEE rotaldatas

H
Zboll ‘Gap Filling Complete’S =49 3ht}.

totaldata3s *#73tct.

Filling Complete’ S &9 3t}

— switch3& 0, 1, 2 o]99] zto =z A3 AL

MATLAB H& o

734563.
734563.
734563.
7345683.
734563,
734563,

Figure 2.5.3. 25 7% 3ta1 o5 43 9 dolH

0146990741
0148148145
01459305556
0150462963
0151620370
Q152777778

‘Check “switch3”’& =9 3dlt},

. 0000000000

£59.0000000000
25.0000000000
25.33353333333
Z5.666660660667
26.0000000000

MATLAB W= ol ‘Gap

wave height

— Despiked Data

......... Gap Filled Data

=10
20110309 0-00 10310309 11-:08.

Figure 2.5.4. 4= 3¢

0110809 12:11

_‘|5_

%

al

20110310 20023

2010811 T3 20110311 1838



2.6 DART ¢18&F

O Ne

DART+= Deep-ocean Assessment and Reporting of Tsunamis®] <FxF= # A
A sl el AAE FolE o]&3d A AM&d EUHY Al=ge|th. Mofjeld
(1997)7F Altstar NOAAS] DART ool AHE 7l A&id A= darega2
AZE A9l A dhal A0S ®Zkske] oS53 sparel AAl vare] Apolrh A
g zdshd ARl dE Fadth Mofjeld (1997)9] AL HE dag)FS H
ol & 16x% (tAS R AAst= DART Folo Agtetes A7k i14d=o] Qv
KTDA v1.0°91= Mofjeld (1997)9] A Waid HAE Lare|53 L3t dgE AHS

O ¢

(1) 34A 343 E9ke] AR E] & A3k A9 p Bit v (

(2) BEFE AE Az DB A5 AH (ORTE e A (w)E T

(3) ohdje] o 9 o5 ta (Ot AA| sare] zelst AAAL 4E BAG
(threshold) o301 AN AZ Bt

_16_



7 P
Standard BPR Gi=L(t"—iAr)

: Actual time s i
sampling rate r“=r—£—l{hr} ;A= (hn Prediction
15 5 =0.25 min time

1'=1+% (hr)
& G G %
| [ | 1| b
10 min 10 min 10 min 10 min
average dverage daverage daverage
i=3 =2 i=1 =0
—t—y —t— gt ——
(I (I (I i}
60 min 60 min 60 min
sampling sampling sampling

Figure 2.6.1. DART 418 % /Hd % (Beltrami, 2008, Figure 1)

P
O T /}gxé

DART %i12]%% saay] 91ake] AEE 39 (input.dat) 1) okzje] W4

HAs o} k.

Table 2.6.1 DART <1 = WS

Z=H3T | W &
DART ¢aglss 88 o5 (0: w58y, 10 5738, 20 538+ A7)
07 switchdart
(d) 2
A7 dolge) §& 454
14 sd
(<) 10
‘ switchl, switch2, switch3S 022 A7 A Ee& 95 3y
36 nputnamedart )
(o)) gapfill.dat
2 (1) @A HHFS HAseE AF (min)
37 n
(¢) 10
- DART &ag]Fo =2 oS3k 919 AlA (min)
X
(o)) 10/60
AAHAL A= A (cm)
39 threshold
(d) 3
switchdarts 2% 474 A A3}E AT 3dd
64 outputdart
(o)) dart.dat

_17_



O 3 43}
- switchdartE 0.2 A3 79

MATLAB W& #Fo| ‘Without Dart Algorithm'& &3},

o

- switchdartE 12 A3 3%

Ebtl 18] MATLAB Al7F, 2¥¢] Ifx, 3¥o] A AU ASAR (= 1,
nHE 2, dads 48 Bk NaN7F 49® totaldatadarts A7 R

MATLAB %% #o] ‘DART Algorithm Complete’& %2 3t}

- switchdartE 2% 243 7

o, o

Figure 2.6.29F #& 1
totaldatadarts #743stt. MATLAB W® ol ‘DART Algorithm Complete’ &
=93

S E9s3lty. ouputdart °©)ECE FH  udd

- switchdartE 0, 1, 2 o] 9 o= A3 73

MATLAB %# #ol ‘Check “switchdart” & &g},

_‘|8_
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3. KTDA.m ZX&

B Ao A= KTDA.m F=o] o3t A3 W8S 7)&3 ).

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036

% KTDA v1.0

% _____________________________________________________________________

% J.-W. LEE (2014)
% Contact: junwhan89@Kkorea.kr

% _____________________________________________________________________

% <Required functions>

% (1) saveascii.m: http://www.mathworks.com/matlabcentral/fileexchange/
% 10243-saveascii-m-v6-2—oct-2009-

% (2) vlookup.m: http://www.mathworks.com/matlabcentral/fileexchange/

% 29233-vlookup-similar-to-ms-excel-function
% (3) gfit2.m: http://www.mathworks.com/matlabcentral /fileexchange/
% 22020-goodness-of-fit—modified-

% (4) T_Tide package: http://www.eos.ubc.ca/~rich/#T_Tide

inputfilesheet=fopen('input.dat');
inputfileinside=textscan(inputfilesheet,'%s%s%s", 'delimiter','=:");
switchl=str2double(cell2mat(inputfileinside{2}(4))):
switch2=str2double(cell2mat(inputfileinside{2}(5))):
switch3=str2double(cell2mat(inputfileinside{2}(6))):
switchdart=str2double(cell2mat(inputfileinside{2}(7)))
switchslope=str2double(cell2mat(inputfileinside{2}(8))):
switchtide=str2double(cell2mat(inputfileinside{2}(9))):
dt=str2num(cell2mat(inputfileinside{2}(13))):
sd=str2num(cell2mat(inputfileinside{2}(14))):
starttime=datenum(str2num(cell2mat(inputfileinside{2}(18)))):
endtime=datenum(str2num(cell2mat(inputfileinside{2}(19)))):
inputnamesp=cell2mat(inputfileinside{2}(23));
thspike=str2num(cell2mat(inputfileinside{2}(24))):
inputnamegap=cell2mat(inputfileinside{2}(28)):
numberinter=str2num(cell2mat(inputfileinside{2}(29))):

gapnumber=str2num(cell2mat(inputfileinside{2}(30)));
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037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054
055
056
057
058
059
060
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075

windowsize=str2num(cell2mat(inputfileinside{2}(31)));
npastdata=str2num(cell2mat(inputfileinside{2}(32))):
inputnamedart=cell2mat(inputfileinside{2}(36)):
n=str2num(cell2mat(inputfileinside{2}(37))):
x=str2num(cell2mat(inputfileinside{2}(38))):
threshold=str2num(cell2mat(inputfileinside{2}(39))):
inputnameslope=cell2mat(inputfileinside{2}(43)):
tIS=str2num(cell2mat(inputfileinside{2}(44)));
tG=str2num(cell2mat(inputfileinside{2}(45))):
tGTide=str2num(cell2mat(inputfileinside{2}(46))):
tTide=str2num(cell2mat(inputfileinside{2}(47))):
tsm=str2num(cell2mat(inputfileinside{2}(48))):
tBS=str2num(cell2mat(inputfileinside{2}(49))):
[Sthreshold=str2num(cell2mat(inputfileinside{2}(50))):
CFthreshold=str2num(cell2mat(inputfileinside{2}(51))):
inputnametide=cell2mat(inputfileinside{2}(55));
inter=str2num(cell2mat(inputfileinside{2}(56))):
lat=str2num(cell2mat(inputfileinside{2}(57))):
output=cell2mat(inputfileinside{2}(61)):
output2=cell2mat(inputfileinside{2}(62));
output3=cell2mat(inputfileinside{2}(63)):
outputdart=cell2mat(inputfileinside{2}(64)):
outputslope=cell2mat(inputfileinside{2}(65));
outputtide=cell2mat(inputfileinside{2}(66)):
disp('Input Data Loading Complete');

Q== ——mm %
% Format Change Algorithm %
o= === %

if (switchl==1)||(switch1==2)

lIs *.kan >list.dat

ttt=(endtime-starttime)*(24x60*60/dt);

for tt=1:ttt
totaltime(tt)=starttime+dt/(24*60%60)*(tt-1);
totalheight(tt)=NaN:
timedata=datestr(totaltime(tt),'dd mm yyyy HH:MM:SS');
dateref=str2double(timedata(1:2)):
monthref=str2double(timedata(4:5)):
yearref=str2double(timedata(7:10));
hourref=str2double(timedata(12:13)):
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072

disp: B Ao AeuteE oF 2AIAS Fdict

9ro} switchio] 1 &= 20| ofefo] Paolg 23ytch,

4 o2 YYol2 HuRL SRR thet Hejolz ARt
ls: AP FHHe 2sa gPojol)

(of]) 'ls *.kan >list.dat
kano 2 B Uy @& Ao} list.dat opdofl A7Fstot.
(£9]) 2lsA gFojolng e FPAAAN = LF=E QAATHT.

tt: O W70l A (1) 4385H7] Ygt AA AIZE A4

NaN: Not a Number?] °fAt= Zto] Qitt= 2Ju]e] ZAIF7| A7 =At4 2] (IEEE)oA]
datestr: MATLAB A]7FS Y3t= 3Alo] EX1E 2 A st
(o) timedata=datestr(totaltime(tt),'dd m HH:

y )
totaltimeo| A7+ MATLAB AJ7HS 'Y 9 A AR X PA9] FAIE 2 ¥75HY
timedatac] ~%&}Fstrt.

3

dateref. timedata®) 1 ¥RIo 2 WK EAIAG Qo] WYL Mrw WAT F Hw
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076 minref=str2double(timedata(15:16)):
077 secondref=str2double(timedata(18:19)):
078 totaltimeref(tt)=yearref* 10~ 10+monthref*10*8+dateref*1076+...
079 hourref*10"4+minref*100+secondref;
080 end

081 totaltimeref=[totaltimeref' totalheight'];
082 totaldata=[totaltime' totalheight'];

083 filename=textread('list.dat’,'%s");

084 nfile=length(filename):

085 for ii=1:1:nfile

086 file=char(filename(ii));

087 fid=fopen(file):

088 [aa,bb]=strtok(file,".");

089 yy(ii)=str2znum(aa(1:4));

090 mm(ii)=str2num(aa(5:6)):

091 dd(ii)=str2num(aa(7:8));

092 aline=fgetl(fid):

093 aline=fgetl(fid);

094 while 1

095 aline=fgetl(fid):

096 [a,b]=strtok(aline,","");

097 [c,d]=strtok(b,","");

098 [e,f]=strtok(a,':");

099 [g.h]=strtok(f,":");

100 [1,j]=strtok(h,":");

101 if aline ==-1

102 break

103 end

104 hour=str2num(e):

105 minute=str2num(g);

106 second=str2num(i);

107 datat=yy(ii)* 10~ 10+mmy(ii)* 10*8+dd(ii)* 10*6+hour* 10" 4+...
108 minutex*100+second;

109 datah=str2num(c);

110 [content,index]| = vlookup(totaltimeref, datat, 1, 1);
111 totaldata(index,2)=datah:

112 end

113 fclose(fid);

114 disp(file):
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153

end
if switchl==2
saveascii(totaldata,output,sd)

end

disp('Data Format Change Complete');
elseif switch1==0

disp('Without Format Change');
else

disp('Check "switch1");
end

if (switch2==1)||(switch2==2)

if switch1==0
aaa=load(inputnamesp);

elseif (switchl==1)||(switch1==2)
aaa=totaldata;

else
disp('Check "switch1"');

end

hl=aaa(:,2):

hlori=h1;

tl=aaa(:, 1)

% Tukey 53H method

for i=3:length(h1)-2
mll(i-2)=median([h1(i-2) h1(i-1) hl({i) h1(i+1) h1(i+2)]):

end

for i=2:length(m11)-1
m21(i-1)=median([m11(i-1) m11(i) m113i+1)]);

end

for i=2:length(m21)-1
h11(i-1)=1/4*(m21(i-1)+2*m21(i)+m21(i+1));
deltal(i-1)=abs(h1(i+3)-h11(3i-1));
if deltal(i-1)>thspike

h1(i+3)=NaN;

end

end

disp('Despiking Complete');
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154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192

totaldata2=[t1 hl];
if switch2==2
saveascii(totaldata2,output2,sd)
end
elseif switch2==0
disp('Without Despiking');

else

disp('Check "switch2"');
end
Q=== — %
% Gap filling algorithm %
== = — %

if (switch3==1)||(switch3==2)
% loading data
if (switch1==0)&&(switch2==0)
aaa=load(inputnamegap);
elseif ((switchl==1)||(switch1==2))&&(switch2==0)
aaa=totaldata;
elseif (switch2==1)||(switch2==2)
aaa=totaldataZ;
else
disp('Check "swichl and switch2"');
end
hl=aaa(:,2):
tl=aaa(:, 1)
k=1;
for i=1:length(hl)
if isnan(hl(i))==1
stepp(k)=i;
k=k+1;
end
end
k=1;
p=1;
step(1)=0;
for i=1:length(stepp)
step(i+1)=stepp(i):
end
step(end+1)=9999999;
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193 for i=2:length(step)-1

194 if (step(i)-step(i-1)~=1)&&(step(i+1)-step(i)~=1)

195 step2(k)=step(i);

196 k=k+1;

197 else

198 step3(p)=step(i);

199 p=p+1;

200 end

201 end

202 | % One point gap filling algorithm

203 for i=1:length(step?)

204 if step2(i)>=3

205 h1l(step2(i))=h1(step2(i)-1);

206 else

207 hl(step2(i))=h1(step2(i)+1);

208 end

209 end

210 | % linear interpolation algorithm

211 k=1;

212 p=1;

213 step3(end+1)=9999999:

214 startt(1)=step3(1):

215 for i=2:length(step3)-1

216 if (step3(i)-step3(i-1)~=1)&&(step3(i+1)-step3(i)==1)
217 startt(k+1)=step3(i):

218 k=k+1;

219 end

220 if (step3(i+1)-step3(i)~=1)||(i==length(step3)-1)

221 endt(p)=step3(i):

222 p=p+1.

223 end

224 end

225 hlL=h1;

226 for i=1:length(startt)

227 if (startt(i)>>numberinter)&&(startt(i)<length(hl)-2)&& ...
228 (endt(i)>numberinter)&&(endt(i)<length(h1)-2)
229 for k=1:numberinter

230 xlinearl(k)=(startt(i)-numberinter+(k-1));
231 vlinearl(k)=h1(startt(i)-numberinter+(k-1)):
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232 end

233 for k=1:2

234 xlinear2(k)=(endt(i)+k);

235 vlinear2(k)=h1(endt(i)+k);

236 end

237 xlinear=[xlinear! xlinear?]';

238 vlinear=[vlinearl vlinear2]':

239 xlinearq=[startt(i): 1:endt(i)];

240 vlinearg=interpl(xlinear,vlinear,xlinearq, 'linear"):
241 for j=1:length(xlinearq)

242 h1L(xlinearq(j))=vlinearq(j);

243 end

244 else

245 xlinearq=[startt(i): 1:endt(i)]:

246 for j=1:length(xlinearq)

247 h1L(xlinearq(j))=h1(xlinearq(1)-1);
248 end

249 end

250 end

251 | % end-point fixing algorithm
252 | h1LEP=h1L;

253 for i=1:length(startt)

254 number=endt(i)-startt(i)+1;

255 if number>=gapnumber

256 window=(endt(i)-startt(i)+1)*windowsize:

257 if startt(i)-(npastdata*window)>=1

258 pastdata=h1L(startt(i)-(npastdataxwindow):startt(i)-1);
259 else

260 pastdata=h1L(1:startt(i)-1):

261 end

262 nnn=length(pastdata);

263 targetwindow=pastdata(end-window+1:end):

264 targetwindow(end-number:end-1)=NaN;

265 targetdata=targetwindow:

266 targetdata(isnan(targetdata))=[];

267 [target,settingtarget]=mapminmax(targetdata);

268 for j=1:'nnn-window*2-1

269 searchwindow=h1L(end-window*2-(j-1)+1:end-window-(j-1));
270 searchwindow(end-number:end-1)=NaN;
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234 | A9 B3O AR H oy 4 (270)Fr2Q XA JEE xlinearZol| A7ggity.
235 | A4 B1to] A8 H dioly 4 (270)Ft2e] oty JEE viinearZol| A7ttt
237 | A | AF& dlol8 9] X|d FEE xlinearo] A 7Fstt}.
238 | A9 BIto] AR dlolEje] mhil S viinearo] A7ttt
239 | A9 Bitos mpuE Fofiofst= AE A AEE xlinearqgoll A7gsttt.
240 | interpl: A2} 1 9Qto] ®tHo 2 11X} H7HS 48Hstc)
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247 | A& o] 27k ool Xt Ay Wt 3P0 BQsh Holg 5 FEHSHA| x5tH g
b ez giAt
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266 | targetdata®] NaN H&2& X|&Ct.
269 | targetwindow o] Z+2 37]9] searchwindow
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300
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309

searchdata=searchwindow;
searchdata(isnan(searchdata))=(];
[search,settingsearch]=mapminmax(searchdata);
cf(j)=gfit2(target,search,'5');
end
mincf=min(cf);
iii=find(cf==mincf);
selectsearch=h1L(end-window-(iii-1)+1-(number+1):end- ...
window-(iii-1)):
ystartoriginal=targetdata(end-1):
yendoriginal=targetdata(end):
ystartcompare=selectsearch(1):
yendcompare=selectsearch(end);
a=ystartoriginal-ystartcompare;
b=yendoriginal-yendcompare;
c=number;
for ccc=1:c
modified(ccc)=(a-b)/(1-c)*(ccc-c)+b;
h1LEP(startt(i)+ccc-1)=selectsearch(ccc+1)+modified(cce);
end
end
end
totaldata3=[t]1 h1LEP];
disp('Gap Filling Complete');
if switch3==2
saveascii(totaldata3,output3,sd)
end
elseif switch3==0
disp('Without Gap Filling'):

else

disp('Check "switch3"");
end
Q=== %
% DART algorithm %
Y= == m o %

if (switchdart==1)||(switchdart==2)
if ((switchl==1)||(switch1==2))&&(switch2==0)&&(switch3==0)
data=totaldata;
elseif (switch2==1)||((switch2==2))&&(switch3==0)
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(o]) [search,settingsearch]=mapminmax(searchdata):
searchdata®) €< 7]1z202 tolg Hol2 WAt searcho]| XAYstL 7o AL
St A58 settingsearcho| 7Sty

U
A% ¥ &5 (allh 2 U8, 10 Bt Al 20 A Bt Alg A
2 M} 4 A4 BF AlE2 Hal 5 Ha Aok} 6 B3F A
SHAR, 7 GHAS, 80 BRAS, 90 288 Al 100 AT oA}, 11
O] Ao At A}
(o)) cf(j)=gfit2(target,search,'b');
targetd} search®] T RUQAIZ cfo] A AL,

fol

min: W5 o GlojEo] A4 A

find: &% 9to] AL wrEste glojElo] AH W (index)E AA3HCE

ofgfo] ¥4+ Figure 2.5.1.9] 7]zo] sfigstct.
ystartoriginal: hl, yendoriginal:h4, ystartcompare:h2, yendcompare:h3

EP €e2|9] $402 cco] Welt 156 cold EP A2o] 4413 BA YAlo] cheof EP
2 23t A& 37 ol ntust hILEPY| A AFEICE

- 43 -




310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335
336
337
338
339
340
341
342
343
344
345
346
347
348

data=totaldata2;
elseif (switch3==1)||(switch3==2)
data=totaldata3;
elseif (switch1==0)&&(switch2==0)&&(switch3==0)
data=load (inputnamedart);
else
disp('Check "swichl, switch?2 and switch3"');
end
tori=data(:,1):
dtotal=data(:,2):
maxd=max(dtotal);
mind=min(dtotal);
runtime=length(dtotal)-((180+n)/x+1)+1;
for k=1:length(tori)
checkdart(k)=NaN;
end
W1=x/60+n/120+1:
W2=x/60+n/120+2;
W3=x/60+n/120+3;
w(1)=(W3+xW2+W1)/6;
w(2)=(W3+xW2)/2-(W3*xW2+xW1)/2;
w(3)=W3-(W3+*W2)+(W3+xW2+xW1)/2;
w(4)=1-W3+(W3+W2)/2-(W3xW2+W1)/6;
for i=1:length(tori)
ttotal(i)=(tori(i)-tori(1))*24:
end
for ii=1l:runtime
sectime=ttotal(1+(ii-1):((180+n)/x+1)+(ii-1)):
secdata=dtotal(1+(ii-1):((180+n)/x+1)+(ii-1)):
sum=0;
for i=1:1:4

mindata(5-i)=mean(secdata(1+360x(i-1):60+360x(i-1)));

end
for i=1:1:4
sum=sum+w(i)*mindata(i):
end
secdatapred(ii)=sum:
diff(ii)=abs(secdata(end)-secdatapred(ii)):

% Alarm if the diff. is larger than threshold
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349 if diff(ii)>=threshold

350 checkdart(ii+(180+n)/x)=1:

351 sprintf(' %s %s','alarm:' datestr(sectime(end)/24+tori(1)))
352 else

353 checkdart(ii+(180+n)/x)=0:

354 end

355 end

356 if switchdart==2

357 totaldatadart=[data checkdart'];

358 saveascii(totaldatadart,outputdart,sd)

359 end

360 | % Plotting the results

361 figure(1)

362 subplot(2,1,1)

363 plot(ttotal(1:((180+n)/x+1)+runtime-1),dtotal(1:((180+n)/x+1)+runtime-1),...
364 '-co','MarkerSize',2)

365 hold on

366 plot(ttotal(((180+n)/x+1):((180+n)/x+1)+runtime-1),secdatapred(l:end), r')
367 axis([min(ttotal(1:((180+n)/x+1)+runtime-1)) ...

368 max(ttotal(1:((180+n)/x+1)+runtime-1)) mind-10 maxd+10])

369 xlabel('time (hr)")

370 ylabel('wave height (cm)")

371 title('DART algorithm')

372 legend('measured height','predictied height")

373 text(0.1,maxd+5,['start time=",datestr(tori(1))], ...

374 'verticalalignment', 'bottom");

375 subplot(2,1,2)

376 plot(ttotal(((180+n)/x+1):((180+n)/x+1)+runtime-1),diff(1:end),'b")
377 hold on

378 plot(ttotal(1:((180+n)/x+1)+runtime-1),threshold, 'r-")

379 axis([min(ttotal(1:((180+n)/x+1)+runtime-1)) ...

380 max(ttotal(1:((180+n)/x+1)+runtime-1)) 0 10])

381 xlabel('time (hr)")

382 ylabel('wave height (cm)")

383 legend('ABS(measured-predicted)’, 'threshold")

384 disp('DART Algorithm Complete');

385 | elseif switchdart==0

386 disp('Without DART Algorithm');

387 | else
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alarm: 11-Mar-2011 15:10:30

(ol

AR L] HE Q

p
rn
>
o
o
S
3
)
N
N
)
o
o
hu
)
N
%)
o]
ol
0

figure: &

subplot(a,b,c): 21L& 534

x&9|| ttotal, yEO| dtotalRl 1
2 It}

hold on: 9JollA] a3t ADtE
of| =

oty (secdatapred)sS “r7HAR

axis(f[a b ¢ d]):

ylabel: &% Qto] gto g y& Al53 £,
title: TS QFo] grog IO A& 20},

legend: Zs OF A2 AR

text: A]AJet Od9] AR Fo] ZAS 2
(o) text(0.1,maxd+5,[ start time="',datestr(tori(1))], verticalalisnment', 'bottom');

x%0] 0.10]1L y&=0] maxd+5Ql A0l [] ¢o] 22 HHe (bottom)7|&0.2 20t
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disp('Check "switchdart"');

end

== = m oo %
% Slope algorithm %
== == %

if (switchslope==1)||(switchslope==2)
if ((switchl==1)||(switch1==2))&&(switch2==0)&&(switch3==0)
dataslope=totaldata;
elseif (switch2==1)||((switch2==2))&&(switch3==0)
dataslope=totaldata2;
elseif (switch3==1)||(switch3==2)
dataslope=totaldata3;
elseif (switch1==0)&&(switch2==0)&&(switch3==0)
dataslope=load (inputnameslope):
else
disp('Check "swichl, switch2 and switch3");
end
ttotalslope=dataslope(:, 1);
dtotalslope=dataslope(:,2);
for k=1:length(ttotalslope)
alarmIS(k)=NaN:
alarmCF 1(k)=NaN;
alarmCF2(k)=NaN;
alarmCF3(k)=NaN:
end
for ii=1:length(dtotalslope)-(tGTide+tTide+tG+tBS)
usingd=dtotalslope(ii:tGTide+tTide+tG+tBS+ii)';
usingt=ttotalslope(ii:tGTide+tTide+tG+tBS+ii)":
for i=1:length(usingd)-tIS
IST(i)=(usingd(i+tIS)-usingd(i))/(tIS*dt);
end
for i=1:length(IST)-tTide
Tideuns(i)=mean(IST(i:i+tTide));
end
for i=1:length(Tideuns)-tsm
Tide(i)=mean(Tideuns(i:i+tsm)):
end
for i=1:length(Tide)
[Sori(i)=IST(i+length(IST)-length(Tide))-Tide(i):
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4277 end

428 time(ii)=usingt(end):

429 [S(ii)=ISori(end);

430 BS1(ii)=(max(ISori(2:tBS+1))-min(ISori(2:tBS+1)))/2;

431 BS2(ii)=std(ISori(2:tBS+1))*(2"0.5):

432 BS3(ii)=max(abs(ISori(2:tBS+1)));

433 CF1(ii)=abs(IS(ii))/BS1(ii);

434 CF2(ii)=abs(IS(ii))/BS2(ii)s

435 CF3(ii)=abs(IS(ii))/BS3(ii):

436 | % Alarm if abs(IS) and CF are larger than threshold

437 if abs(IS(ii))>=ISthreshold

438 sprintf('%s%s','IS alarm at:',datestr(usingt(end)))
439 alarmIS((tGTide+tTide+tG+tBS)+ii)=1;

440 else

441 alarmIS((tGTide+tTide+tG+tBS)+ii)=0;

4472 end

443 if CF1(ii)>=CFthreshold

444 sprintf('%s%s','CF1 alarm at:',datestr(usingt(end)))
445 alarmCF1((tGTide+tTide+tG+tBS)+ii)=1;

446 else

447 alarmCF1((tGTide+tTide+tG+tBS)+ii)=0:

448 end

449 if CF2(ii)>=CFthreshold

450 sprintf('%s%s','CF2 alarm at:',datestr(usingt(end)))
451 alarmCF2((tGTide+tTide+tG+tBS)+ii)=1:

452 else

453 alarmCF2((tGTide+tTide+tG+tBS)+ii)=0;

454 end

455 if CF3(ii)>=CFthreshold

456 sprintf('%s%s','CF3 alarm at:',datestr(usingt(end)))
457 alarmCF3((tGTide+tTide+tG+tBS)+ii)=1;

458 else

459 alarmCF3((tGTide+tTide+tG+tBS)+ii)=0;

460 end

461 end

462 if switchslope==2

463 totaldataslope=[dataslope alarmlIS' alarmCF1' alarmCF2' alarmCF3'][;
464 saveascii(totaldataslope,outputslope,sd)

465 end
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% Plotting the results

xxaxis=ttotalslope(length(dtotalslope)-length(IS)+1:end)*24-...
ttotalslope(length(dtotalslope)-length(IS)+1)*24;

xstart=xxaxis(1);

xend=xxaxis(end):

figure(2)

subplot(4,1,1)

plot(xxaxis,dtotalslope(length(dtotalslope)-length(IS)+1:end),...
'-co','MarkersSize',2)

maxslope=max(dtotalslope(length(dtotalslope)-length(IS)+1:end)):

minslope=min(dtotalslope(length(dtotalslope)-length(IS)+1:end)):

title('Slope algorithm")

legend('measured height(cm)')

axis([xstart xend minslope-10 maxslope+10])

subplot(4,1,2)

plot(xxaxis,IS,'b")

hold on

plot(xxaxis,ISthreshold, 'r-")

hold on

plot(xxaxis,ISthresholdx(-1),'r-")

hold on

legend('IS(cm/sec.)’, threshold')

axis([xstart xend [Sthreshold*(-1)*3 ISthreshold*3])

subplot(4,1,3)

plot(xxaxis,BS1,'k")

hold on

plot(xxaxis,BS2,'s")

hold on

plot(xxaxis,BS3,'b")

legend('BS1(cm/sec.)','BS2(cm/sec.)','BS3(cm/sec.)")

axis([xstart xend 0 max(BS3)*2])

subplot(4,1,4)

plot(xxaxis,CF1,'k")

hold on

plot(xxaxis,CF2,'g")

hold on

plot(xxaxis,CF3,'b")

hold on

plot(xxaxis,CFthreshold, 'r-")
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xlabel('time (hour)')
legend('CF1','CF2','CF3", 'threshold")
axis([xstart xend 0 max([max(CF1),max(CF2),max(CF3)])*2])

disp(['tIS: ',num2str(tIS/6), min."," ','tG: ',num?2str(tG/6), ...
'‘min.'," ','tGTide: ',num2str(tGTide/6), min."," ',
"tTide: ",num2str(tTide/6), min.']);

disp(['tsm: ',num2str(tsm/6), min.'," ','tBS: ''num2str(tBS/6), ...
‘min."," ','ISthreshold: ',num2str(ISthreshold), cm/sec.’,...

" ''CFthreshold: ',num2str(CFthreshold)]);
disp('Slope Algorithm Complete');
elseif switchslope==0
disp('Without Slope Algorithm');
else
disp('Check "switchslope™'):

end

Qo= == %
% Detide algorithm %
Qo= == m %

if (switchtide==1)||(switchtide==2)

if ((switchl==1)||(switch1==2))&&(switch2==0)&&(switch3==0)
datatide=totaldata;

elseif (switch2==1)||((switch2==2))&&(switch3==0)
datatide=totaldataZ2;

elseif (switch3==1)||(switch3==2)
datatide=totaldata3;

elseif (switch1==0)&&(switch2==0)&&(switch3==0)
datatide=load (inputnametide):

else
disp('Check "swichl, switch2 and switch3"');

end

timetideori=datatide(:, 1):

elevori=datatide(:,2):

totaldayori=length(timetideori):

q=1

for p=1:totaldayori
if mod(p,(inter+x60%60)/dt)==1

timetide(q)=timetideori(p):
elev(q)=elevori(p);

q=qg+1;
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508 | MATLAB 3 Ao AL du2]&of ALgsh HAZHS &E2isict
Command Window
t15: 10min, tG: 15min., tGTide: 1Bmin., tTide: BOmin.
tsm: Bmin., tBS: BOmin. |5Sthreshold: lemdsec.

CFthreshold: 2,15

523 | §FOF switchtideZl 1 B 22 AAXE o] 9J0WH detide &1 2|ES 4885t}
524 | O AT oot J& O WA AAILBS] totaldatas =12t
526 | Spike A|AHE 4883t 74 spike A|AE AAEQ totaldata?s =22]-2CF.
528 | 25 3t ol o5 23T 4 2F 0 oyt o549 totaldata3s =22t
530 | L9 WH7, spike AlA, 25 Xt mul &S D& 238 A7t & inputnametide ©|F
o] & HolElE =32t
539 | Detideo] At8s 7FAoc 2 x| A

540 | mod(a,b): a& b= Uwri G

oA ghe Akt
REREEA0N A8 clole] UA inten AT RGO 606002
A AALG Hole 7t

x 092 Wrshe
A (dh2 o] s A%

stk ol 5o inter’t 1/60, det
100]9 (jn[‘e[*GO*(SO)/dz‘% go|ct. watA if mod(p,(inter*60*60)/dt)-- < pE 627 4
o YHAP7E 191 Z-9of ofliE a8dtet. &, p7h 1 7, 13, - F9& A=

_55_



544
545
546
547
548
549
550
551
552
553
554
555
556
557
558
559
560
561
562
563
564
565
566
567
568
569
570
571
572
573
574
575

end
end
timetide=timetide";
elev=elev'
totalday=length(elev);
[nameu,fu,tidecon,pout,synth,ltype,stime]=t_tide(elev, 'interval’,...
inter, 'start',timetide(1), 'latitude’,lat, 'synthesis',0);
% Change the output data interval
xout=t_predic(stime+[0:totaldayori-1]*dt/3600/24.0, ...
nameu,fu,tidecon,'lat',lat, 'synth',synth, 'anal’,ltype);
if switchtide==2
outtide=fopen(outputtide, 'w');
for i=1:length(xout)
fprintf(outtide, ' %f %f \n' timetideori(i),xout(i)):
end
end
% Plot the results
figure(3)
plot(timetideori-timetideori(1),[elevori xout']):
hold on
plot(timetideori-timetideori(1),elevori-xout', 'linewi',2, 'color','r');
xlabel('Days');
ylabel('Elevation (cm)');
legend('Original Time series','Tidal prediction from Analysis',...
'Original time series minus Prediction');
title('DETIDE ALGORITHM');
disp('Detide Algorithm Complete');
elseif switchtide==0
disp('Without Detide Algorithm');
else
disp('Check "switchtide"");
end
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549

552

555

557

561

5 Axo] x5k F2E =0 KTDA v1.00|A: A A=AL Sof xshats

= rlo e

synth, ltype, stimez EYE|T 2 LHASITH 12 poutd X M= =

=9 54 42 shaolc,

=

=

=

Adtstal oAl 2 BEY A=z 24 G2 dEs] #std = d
7

E t tide.m $<= [nameu,fu,tidecon,xout]=t_tide(xin,varargin); dgjo|t}. & Y
s

Cofl= "tgo]
M = QEZRO Q= synth, ltype, stimeo] 549K ZEo|A ZHE| o] TRl FEof W
Wol AAE =S f74dstict

fopen: A5 MY Y& g2 loadz

saveascii.mo] gl= 74 o] L2 0]85}

2 i
iy
)

(o) outtide=fopen(outputtide,'w'):
outputtide 0]29 IS 27|18 (w)oz A 7S outtidezt H3tct.

fprintf(a,”.b): A2 OF FA 2 bo] WS adf Ul
(of]) fprintf(outtide, %f %f \n'timetideori(i),xout(i)

):
outtideo]] 27]2] A4 (%f %f) & & HAE (\n) FAlO 2 timetideori?t xouts YA

Detide ¢112]& 2ot 232 DART €& Z2at 19, FAF €ds 2y 19
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=]
T

=

=

1. AEZE 999 input.dat

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035

%
%
%

%
%
%

%
%
%

%
%
%

%
%

_______________________________________________________________________ %
SWITCH (0; No, 1; Yes, 2; Yes and save data) %
_______________________________________________________________________ 0/0
switchl =0 . Format change
switch?2 =0 : Despike
switch3 =0 . Fill gap
switchdart =0 . DART algorithm
switchslope = 2 : Slope algorithm
switchtide =0 . Detide algorithm
_______________________________________________________________________ %
BASIC INFORMATION %
_______________________________________________________________________ %
dt = 10 : Time interval of data (sec)
sd = 10 . Significant decimals
_______________________________________________________________________ %
FORMAT CHANGE (year,month,day,hour,minute,second) %
_______________________________________________________________________ 0/0
starttime = 2011,3,1,0,0,0 : Start time
endtime = 2011,3,31,23,0,0 : End time
_______________________________________________________________________ %
DESPIKE %
_______________________________________________________________________ %

inputnamesp = resultlOsec.dat
thspike = 1/7.603

inputnamegap = despike.dat
numberinter = 5
gapnumber = 30
windowsize = 2
npastdata = 10

. Use it if you already have timeseries data

. Predetermined threshold to detect spikes

. Use it if you already have timeseries data

: Number of data for interpolation
> Minimum gap size for EP

. Total window size (*gap size)

: Total data for search (*gap size)
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036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054
055
056
057
058
059
060
061
062
063
064
065
066
067

inputnamedart = gapfill.dat

n = 10

X = 10/60
threshold =3

SLOPE ALGORITHM
inputnameslope= gapfill.dat
tIS = 10%6

tG = 15%6
tGTide = 15%6+1%6
tTide = 60*6

tsm = 6x6

tBS = 60%6
[Sthreshold =1
CFthreshold = 2.15
DETIDE ALGORITHM
inputnametide= gapfill.dat
inter = 1/60

lat = 37+29/60
SAVE DATA

output = resultl0sec.dat
output?2 = despike.dat
output3 = gapfill.dat
outputdart = dart.dat
outputslope = slope.dat
outputtide = ttide.dat

. Use it if you already have timeseries data

: Sampling time (min)

. Predicting time (min)

. Threshold to alarm tsunami (cm)

: Use it if you already have timeseries data

: Time interval for the average slope (*10 sec

. Delay gap time for IBS (
. Delay gap time for detiding (x10 sec
(

. Time interval for detiding

)
*10 sec)

)
)

*10 sec

. Time interval for long period wave effect (x10 sec)
: Time interval for the background slope (x10 sec)

: ABS(IS) threshold (cm/sec

: CF threshold (no dimension

)
)

. Use it if you already have timeseries data

: Input data inverval (hr)
: Sation latitude (degree)

. Format changed data name

. Despiked data name

. Gap filled data name

: DART alarm data name
. Slope alarm data name

. Detided data name
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